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where short-term yields go up and long-term interest rates drop 

simultaneously. 

 

Q. Consider the following statements: 

Attorney General of India can 

1. take part in the proceedings of the LokSabha 

2. be a member of a committee of the LokSabha 

3. speak in the LokSabha 

4. vote in the LokSabha 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 and 4 

(c) 1, 2 and 3 

(d) 1 and 3 only 

Answer: c 

Explanation: Statement 1, 2 and 3 are correct: The Attorney General of 

India (AGI) has the Right to Speak and to take part in the proceedings of 

both the Houses of Parliament or their joint sitting and any committee of 

the Parliament of which he/she may be named a member of. 

Statement 4 is not correct. AGI does not have the Right to Vote in the 

House proceedings. 

 

Q. With reference to the Olive Ridley Turtles, consider the following 
statements: 
1. They are endemic to most tropical regions of the Indian Subcontinent. 
2. They are herbivores and mostly feed on seaweeds and algae. 
3. They exhibit the ‘arribadas’ phenomenon. 
Which of the statements given above is/are not correct? 
(a) 1 only 
(b) 1 and 2 only 
(c) 2 and 3 only 
(d) 1, 2 and 3  
Answer: b 


